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ENGLISH VERSION

Answer any four : 14

(1) Explain assumption and limitation of linear
programme.

(2) Explain uses of linear programme.

(3) Solve by North West Corner Method.

1 2 3 4 Supply
A 4 5 2 9 4 ~
B 7 6 7 10 28

Required 23 20 15 12

(4) Write characteristics and limitation of PERT.
(5) Write uses of PERT.

(6) Explain : Transportation problem.
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What is Linear Programming ?
Give its mathematical formulation.
Minimize the objective function
Z = 3x + by under the following conditions.
=3x+y < 12, 2x+3y > 12, 2x-y > -2,
XxX<4,y22, x>0, y>0

OR

Explain :
(1) Feasible Solution
(2) Constraints
(3) Optimal Feasible Solution
A milkman wants to purchase cows and

buffaloes. He can accommodate at the most 20
animals in the available space. The daily
expense on food and grass for a cow is Rs. 5
and that on a buffalo is Rs. 8. The milkman
can sent at the most Rs. 136 a day. Each cow
gives 5 litres milk and each buffalo gives 7
litres milk every day. How many cows and
buffaloes shoule be purchased so as to get
maximum quantity of milk ?

Explain meaning of Operation Research.
Also give mathematical form of

transportation problem.
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Obtain basic feasible solution of the

following T.P. by North West corner method.

A B C E F Supply
1 9 10 7 6 9 10 5
11 7 5 9 7T 5 5 6
I 5 3 9 10 3 11 2
v 5 7 11 8 2 10 9
Requirement 4 4 6 2 4 2 22
OR

(a) Explain : Matrix Minima method for
solving transportation problem.

(b) Obtain basic feasible solution of the
following transportation problem by Vogel's
method.

‘1 m W IV V VI Supply
A 12 11 13 13 10 15 50
B 13 12 12 14 13 10 40
C 13 15 14 12 14 11 60
D 14 12 11 11 10 12 31
Requirement 30 50 20 40 30 11 181
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4 (a) Explain assignment problem with suitable 6
illustration.
(b) Solve the following assignment problem to
minimize the total cost. 8
D, D, D, D, D,
O, 3 5 4 6 5
- O, 8 5 7 9 5
Origins O 3 10 9 11 5
O, 9 7 13 8 5
O, 3 9 6 9 9
OR
4 (a) Explain : 8
(1) Hungarian method for solving Assi. Prob.
(2) Replacement Problem
(b) The price of a machine is Rs. 10,000. 6
Its maintenance expense is Rs. 300 for the
first year and then it increase by Rs. 1000 per
year. At what time it is possible to replace the
machine ?
> (a) Explain the following terms with reference 6
to PERT.
(1) Activity
(2) Event
(3) Expected time.
1BJ-1109] 7 [Contd...
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(b) Prepare a PERT-chart for the following
project and find critical path.
Activity 1-2 1-6 2-3 24 3-5 45 67 5-8 7-8
Time 8 4 14 7 13 8 10 5 20
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